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Academic Day starts with -

e (Greeting with saying ‘Namaste’ by joining Hands together following by 2-3 Minutes
Happy session, Celebrating birthday of any student of respective class and National
Anthem.

Lecture starts with- quotations’ answer writing

Review of previous Session - Classical Encryption Techniques (Substitution Techniques)
Topic to be discussed today- Today We will discuss about Transposition Techniques
Lesson deliverance (ICT, Diagrams & Live Example)-

» Diagrams

Introduction & Brief Discussion about the Topic - Classical Encryption Techniques


https://www.jvwu.ac.in/documents/UGC-letter.pdf
https://www.jvwu.ac.in/documents/NAAC.pdf

TRANSPOSITION TECHNIQUES

All the techniques examined so far involve the substitution of a cipher text symbol for a plaintext
symbol. A very different kind of mapping is achieved by performing some sort of permutation on

the plaintext letters. This technique is referred to as a transposition cipher.
Rail fence

is simplest of such cipher, in which the plaintext is written down as a sequence of diagonals and

then read off as a sequence of rows.
Plaintext = meet at the school house

To encipher this message with a rail fence of depth 2, we write the message as follows: \

mi|e|al|t |e|c|o|l |o]s

e |t |t |h|s|h|o|h|u]e

The encrypted message is MEATECOLOSETTHSHOHUE
Row Transposition Ciphers-

A more complex scheme is to write the message in a rectangle, row by row, and read the
message off, column by column, but permute the order of the columns. The order of columns

then becomes the key of the algorithm.

e.g., plaintext = meet at the school house

Key =4 3 1 2 5 6 7

PT=m e e t a t t
h e S C h 0 0
I h 0 u S e

CT = ESOTCUEEHMHLAHSTOETO



A pure transposition cipher is easily recognized because it has the same letter frequencies as the
original plaintext. The transposition cipher can be made significantly more secure by performing
more than one stage of transposition. The result is more complex permutation that is not easily

reconstructed.

Reference-

1. Book: William Stallings, “Cryptography & Network Security”, Pearson Education, 4th
Edition 2006.

QUESTIONS: -
Q1. Explain Rail Fence technique.
Q2. Explain Row transposition technique.

Next, we will discuss about Feistel cipher structure.
e Academic Day ends with-

National song ‘Vande Mataram’



